ENEE2360 CH8 Homework Problems

23. a. Find the value of Ry to obtain a voltage gain of 2 for the network of Fig. 8.74 using ry; = w0 ().
b. Repeat part (a) with ry = 30 k). What was the impact of the change in r; on the gain and
the analysis?
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rds = 30KQ

I M}

FIG. 8.74
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46. Design the fixed-bias network of Fig. 8.88 to have a gain of 8.
17. Design the self-bias network of Fig. 8.89 to have a gain of 10. The device should be biased at
Vas, = 1Vp.

+Vpp (+22V)

+Vpp (+20V)

rds = 50KQ

FIG. 8.88 FIG. 8.89

56. For the cascade amplifier of Fig. 8.94, calculate the dc bias voltages currents of each stage.

57. For the amplifier circuit of Fig. 8.94, calculate the voltage gain of each stage and the overall
amplifier voltage gain.

58. Calculate the input impedance (Z;) and output impedance (Z,) for the amplifier circuit of
Fig. 8.94.

+10V

1.8kQ 24 kQ 2.7kQ

——

100 uF

FIG. 8.94
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